

Applied Mathematics & Information Sciences An International Journal

Identities Involving Some New Special Polynomials Arising from the Applications of Fractional Calculus

Serkan Araci^{1,*}, Erdoğan Şen^{2,3}, Mehmet Acikgoz⁴ and Kamil Oruçoğlu³

¹ Department of Economics, Faculty of Economics, Administrative and Social Sciences, Hasan Kalyoncu University, TR-27410 Gaziantep, Turkey

² Department of Mathematics, Faculty of Arts and Science, Namik Kemal University, TR-59030, Tekirdağ, Turkey

³ Department of Mathematics Engineering, Istanbul Technical University, Maslak, TR-34469 Istanbul, Turkey

⁴ Department of Mathematics, Faculty of Science and Arts, University of Gaziantep, TR-27310 Gaziantep, Turkey

Received: 23 Sep. 2014, Revised: 4 Nov. 2014, Accepted: 1 Dec. 2014 Published online: 1 Sep. 2015

Abstract: Inspired by a number of recent investigations, we introduce the new analogues of the Apostol-Bernoulli polynomials and the Apostol-Euler polynomials, the Apostol-Genocchi polynomials based on Mittag-Leffler function. Making use of the Caputo-fractional derivative, we derive some new interesting identities of these polynomials. It turns out that some known results are derived as special cases.

Keywords: Mittag-Leffler function, Caputo-Fractional derivative, Apostol-Bernoulli polynomials, Apostol-Genocchi polynomials, Apostol-Euler polynomials

1 Introduction

The concept of fractional is popularly appeared from a question raised in the year 1695 by L'Hôpital (1661-1704) to Leibniz (1646-1716), which searched the way of Leibniz's notation $\frac{d^n y}{dx^n}$ for the derivative of order $n \in \mathbb{N}^* := \mathbb{N} \cup \{0\}$ when $n = \frac{1}{2}$ (What if $n = \frac{1}{2}$). In his response, dated 30 September 1695, Leibniz wrote to L' Hôpital as follows:"... This is an apparent paradox from which, one day, useful consequences will be drawn..." (see [1], [2]).

Subsequent mention of fractional derivatives was made, in some context, by Euler in 1730, Lagrange in 1772, Laplace in 1812, Lacroix in 1819, Fourier in 1822, Liouville in 1832, Riemann in 1847, Greer in 1859, Holmgren in 1865, Grünwald in 1867, Letnikov in 1868, Sonin in 1869, Laurent in 1884, Nekrassov in 1888, Krug in 1890, and Weyl in 1917 (for details, see [1], [2]).

One of the most recent works on the subject of fractional calculus is the book of Podlubny [1] published in 1999, which deals with theory of fractional differential equations.

One of the fundamental functions of the fractional calculus is Euler's gamma function $\Gamma(\xi)$, which

$$\Gamma\left(\xi\right) = \int_0^\infty t^{\xi - 1} e^{-t} dt,\tag{1}$$

which converges in the right half of the complex plane $\text{Re}(\xi) > 0$ (see [1], [2]). This function satisfies the following functional equations:

$$\Gamma(\xi+1) = \xi \Gamma(\xi) \text{ and } B(\xi,\gamma) = \frac{\Gamma(\xi)\Gamma(\gamma)}{\Gamma(\xi+\gamma)}$$
(2)

where $B(\xi, \gamma)$ is known as Beta function (see [1], [2], [6], [10]).

The Mittag-Leffler function, which generalizes the exponential function e^z , is given by

$$E_{\alpha}(z) = \sum_{n=0}^{\infty} \frac{z^n}{\Gamma(\alpha n + 1)} \text{ (see [1], [2]).}$$
(3)

Obviously that

$$E_1(z) = e^z.$$

The Mittag-Leffler function plays a vital and important role in the concept of *fractional calculus*.

generalizes the fractional "*n*!" defined by

^{*} Corresponding author e-mail: mtsrkn@hotmail.com



The generalization of Mittag-Leffler function is also defined by the following series expansion:

$$E_{\alpha,\beta}(z) = \sum_{n=0}^{\infty} \frac{z^n}{\Gamma(\alpha n + \beta)}, \ (\alpha > 0, \beta > 0) \ (\text{see [1], [2]}).$$
(4)

By (4), we have

$$E_{1,1}(z) = \sum_{k=0}^{\infty} \frac{z^k}{\Gamma(k+1)} = e^z,$$

$$E_{1,2}(z) = \sum_{k=0}^{\infty} \frac{z^k}{\Gamma(k+2)} = \frac{e^z - 1}{z},$$

$$E_{1,3}(z) = \sum_{k=0}^{\infty} \frac{z^k}{\Gamma(k+3)} = \frac{e^z - z - 1}{z^2}.$$
(5)

Continuing this process gives

$$E_{1,m}(z) = \frac{1}{z^{m-1}} \left\{ e^{z} - \sum_{k=0}^{m-2} \frac{z^{k}}{k!} \right\} \text{ (see [1], [2])}.$$

Note that various generalizations of the Mittag-Leffler function which are studied by Humbert and Delerue [1] and by Chak [3], were further extended by Srivastava [2].

In [1],[2], the Riemann-Liouville fractional integral of order α for a function *f* is defined by

$$\mathscr{I}^{(\alpha)}f(t) = \frac{1}{\Gamma(\alpha)} \int_0^t (t-s)^{\alpha-1} f(s) \, ds, \qquad (6)$$
$$(f:(0,\infty) \to \mathbb{R} \text{ and } \alpha > 0).$$

The Caputo-fractional derivative of higher order for a continuous function f is given by

$$\mathscr{D}^{(\alpha)}f(t) = \frac{1}{\Gamma(n-\alpha)} \int_0^t \frac{f^{(n)}(s)}{(t-s)^{\alpha-n+1}} ds,$$
(7)
(f:(0,\infty) \rightarrow \mathbb{R} and \alpha > 0),

where *n* is the smallest integer greater than or equal to α (see [1], [2]).

From (6) and (7), we have

$$\mathscr{D}^{(\alpha)}f(t) = \mathscr{D}^{(k)}\left[\mathscr{I}^{(k-\alpha)}f(t)\right], k \in \mathbb{N}.$$
 (8)

From (8), it follows that

$$\mathscr{D}^{(\alpha)}t^{n} = \frac{\Gamma(n+1)}{\Gamma(n-\alpha+1)}t^{n-\alpha} (\text{see [1], [2]}).$$
(9)

The fractional derivative of the product fg, which is called Leibniz rule, is given by

$$\mathscr{D}^{(\alpha)}[f(t)g(t)] = \sum_{k=0}^{\infty} {\alpha \choose k} f^{(k)}(t) \mathscr{D}^{(\alpha-k)}g(t) \text{ (see [1], [2]).}$$
(10)

In the next section, we consider analogues of Bernoulli, Euler and Genocchi polynomials which are introduced using (3).

2 Analogues of Bernoulli, Euler and Genocchi Polynomials and their Properties

Recently, analogues of Bernoulli, Euler and Genocchi polynomials were studied by many mathematicians [4-24]. We are now ready to give the definition of generating functions, corresponding to Mittag-Leffler function, of Bernoulli, Euler and Genocchi polynomials.

Definition 1. *Let* $\alpha > 0$ *and* $\lambda > 0$ *, define*

$$\mathcal{K}(x,z:\alpha \mid \lambda) = \sum_{n=0}^{\infty} \mathcal{B}_n(x:\alpha \mid \lambda) \frac{z^n}{n!} = \frac{z}{\lambda E_{\alpha}(z) - 1} e^{xz},$$
$$\mathcal{I}(x,z:\alpha \mid \lambda) = \sum_{n=0}^{\infty} \mathcal{E}_n(x:\alpha \mid \lambda) \frac{z^n}{n!} = \frac{2}{\lambda E_{\alpha}(z) + 1} e^{xz},$$
$$\mathcal{M}(x,z:\alpha \mid \lambda) = \sum_{n=0}^{\infty} \mathcal{G}_n(x:\alpha \mid \lambda) \frac{z^n}{n!} = \frac{2z}{\lambda E_{\alpha}(z) + 1} e^{xz},$$

where $\mathscr{B}_n(x : \alpha | \lambda)$, $\mathscr{E}_n(x : \alpha | \lambda)$ and $\mathscr{G}_n(x : \alpha | \lambda)$ are called, respectively, Bernoulli-type, Euler-type and Genocchi-type polynomials.

Corollary 1. Taking $\alpha = 1$ in Definition 1, we have

$$\sum_{n=0}^{\infty} B_n(x \mid \lambda) \frac{z^n}{n!} = \frac{z}{\lambda e^z - 1} e^{xz},$$
$$\sum_{n=0}^{\infty} E_n(x \mid \lambda) \frac{z^n}{n!} = \frac{2}{\lambda e^z + 1} e^{xz},$$

and

$$\sum_{n=0}^{\infty} G_n(x \mid \lambda) \frac{z^n}{n!} = \frac{2z}{\lambda e^z + 1} e^{xz},$$

where $B_n(x | \lambda)$, $E_n(x | \lambda)$ and $G_n(x | \lambda)$ are called Apostol-Bernoulli polynomials, Apostol-Euler polynomials and Apostol-Genocchi polynomials, respectively (see [8], [9], [18], [19], [22], [23], [25]).

Corollary 2. Substituting $\alpha = \lambda = 1$ in Definition 1, we have

$$\sum_{n=0}^{\infty} B_n(x) \frac{z^n}{n!} = \frac{z}{e^z - 1} e^{xz},$$
$$\sum_{n=0}^{\infty} E_n(x) \frac{z^n}{n!} = \frac{2}{e^z + 1} e^{xz},$$

and

$$\sum_{n=0}^{\infty} G_n(x) \frac{z^n}{n!} = \frac{2z}{e^z + 1} e^{xz},$$

where $B_n(x)$, $E_n(x)$ and $G_n(x)$ are called classical Bernoulli polynomials, classical Euler polynomials and classical Genocchi polynomials, respectively (see [8], [9], [18], [19], [22], [23], [25]). Taking x = 0 in the above definition, we have

$$\mathcal{B}_{n}(0: \alpha \mid \lambda) := \underbrace{\mathcal{B}_{n}(\alpha \mid \lambda)}_{\text{Bernoulli-type number}}$$
$$\mathcal{E}_{n}(0: \alpha \mid \lambda) := \underbrace{\mathcal{E}_{n}(\alpha \mid \lambda)}_{\text{Euler-type number}}$$
$$\mathcal{G}_{n}(0: \alpha \mid \lambda) := \underbrace{\mathcal{G}_{n}(\alpha \mid \lambda)}_{\text{Genocchi-type number}}$$

and from the above, we write

$$\begin{aligned} \mathscr{K}(0, z : \alpha \mid \lambda) &:= \mathscr{K}(z : \alpha \mid \lambda), \\ \mathscr{I}(0, z : \alpha \mid \lambda) &:= \mathscr{I}(z : \alpha \mid \lambda), \\ \mathscr{M}(0, z : \alpha \mid \lambda) &:= \mathscr{M}(z : \alpha \mid \lambda). \end{aligned}$$
(11)

Matching Definition 1 and (11), we get the following corollary.

Corollary 3. The following functional equations hold true:

 $\mathscr{K}(x,z:\alpha \mid \lambda) = \mathscr{K}(z:\alpha \mid \lambda)e^{xz},$ $\mathscr{I}(x,z:\alpha \mid \lambda) = \mathscr{I}(z:\alpha \mid \lambda)e^{xz},$ $\mathcal{M}(x,z: \alpha \mid \lambda) = \mathcal{M}(z: \alpha \mid \lambda)e^{xz}.$

By using (4) and Corollary 3, becomes

$$\sum_{n=0}^{\infty} \mathscr{B}_n(x:\alpha \mid \lambda) \frac{z^n}{n!} = \left(\sum_{n=0}^{\infty} \mathscr{B}_n(\alpha \mid \lambda) \frac{z^n}{n!}\right) \left(\sum_{n=0}^{\infty} x^n \frac{z^n}{n!}\right)$$

From the rule of Cauchy product, we get

$$\sum_{n=0}^{\infty} \mathscr{B}_n(x:\alpha \mid \lambda) \frac{z^n}{n!} = \sum_{n=0}^{\infty} \left(\sum_{k=0}^n \binom{n}{k} \mathscr{B}_k(\alpha \mid \lambda) x^{n-k} \right) \frac{z^n}{n!}.$$
(12)

Comparing the coefficients of $\frac{z^n}{n!}$ in (12), we have

$$\mathscr{B}_{n}(x:\alpha \mid \lambda) = \sum_{k=0}^{n} \binom{n}{k} \mathscr{B}_{k}(\alpha \mid \lambda) x^{n-k}.$$
 (13)

Similarly, we can get identities for Euler-type and Genocchi-type polynomials. Therefore, we discover the following theorem.

Theorem 1. The following identities hold true:

$$\mathcal{B}_{n}(x:\alpha \mid \lambda) = \sum_{k=0}^{n} \binom{n}{k} \mathcal{B}_{k}(\alpha \mid \lambda) x^{n-k},$$

$$\mathcal{B}_{n}(x:\alpha \mid \lambda) = \sum_{k=0}^{n} \binom{n}{k} \mathcal{E}_{k}(\alpha \mid \lambda) x^{n-k},$$

$$\mathcal{G}_{n}(x:\alpha \mid \lambda) = \sum_{k=0}^{n} \binom{n}{k} \mathcal{G}_{k}(\alpha \mid \lambda) x^{n-k}.$$

$$\mathcal{G}_{n}(x:\alpha \mid \lambda) = \sum_{k=0}^{n} \binom{n}{k} \mathcal{G}_{k}(\alpha \mid \lambda) x^{n-k}.$$

$$\mathcal{G}_{n}(x:\alpha \mid \lambda) = \sum_{k=0}^{n} \binom{n}{k} \mathcal{G}_{k}(\alpha \mid \lambda) x^{n-k}.$$

$$\mathcal{G}_{n}(x:\alpha \mid \lambda) = \sum_{k=0}^{n} \binom{n}{k} \mathcal{G}_{k}(\alpha \mid \lambda) x^{n-k}.$$

$$\mathcal{G}_{n}(x:\alpha \mid \lambda) = \sum_{k=0}^{n} \binom{n}{k} \mathcal{G}_{k}(\alpha \mid \lambda) x^{n-k}.$$

$$\mathcal{G}_{n}(x:\alpha \mid \lambda) = \sum_{k=0}^{n} \binom{n}{k} \mathcal{G}_{k}(\alpha \mid \lambda) x^{n-k}.$$

$$\mathcal{G}_{n}(x:\alpha \mid \lambda) = \sum_{k=0}^{n} \binom{n}{k} \mathcal{G}_{k}(\alpha \mid \lambda) x^{n-k}.$$

$$\mathcal{G}_{n}(x:\alpha \mid \lambda) = \sum_{k=0}^{n} \binom{n}{k} \mathcal{G}_{k}(\alpha \mid \lambda) x^{n-k}.$$

Let us now apply the familiar derivative $\frac{d}{dx}$ in the both sides of Definition 1,

$$\frac{d}{dx} \left(\sum_{n=0}^{\infty} \mathscr{B}_n(x : \alpha \mid \lambda) \frac{z^n}{n!} \right) = \sum_{n=0}^{\infty} \left(\frac{d}{dx} \mathscr{B}_n(x : \alpha \mid \lambda) \right) \frac{z^n}{n!}$$
$$= \frac{z}{\lambda E_{\alpha}(z) - 1} \left[\frac{d}{dx} e^{xz} \right]$$
$$= \frac{z^2}{\lambda E_{\alpha}(z) - 1} e^{xz}$$
$$= \sum_{n=0}^{\infty} \mathscr{B}_n(\alpha \mid \lambda) \frac{z^{n+1}}{n!}.$$

Similarly, we can procure the derivatives of Euler-type and Genocchi-type polynomials. Thus, we state the following theorem.

Theorem 2. The following identities hold true:

$$\frac{d}{dx}\mathscr{B}_{n}(x:\alpha \mid \lambda) = n\mathscr{B}_{n-1}(x:\alpha \mid \lambda),$$
$$\frac{d}{dx}\mathscr{E}_{n}(x:\alpha \mid \lambda) = n\mathscr{E}_{n-1}(x:\alpha \mid \lambda)$$
and

$$\frac{d}{dx}\mathscr{G}_n(x:\alpha \mid \lambda) = n\mathscr{G}_{n-1}(x:\alpha \mid \lambda).$$

Polynomials $\mathscr{A}_n(x)$ are called Appell polynomials when they have the following identity:

$$\frac{d}{dx}\mathscr{A}_n(x:\alpha) = n\mathscr{A}_{n-1}(x:\alpha).$$
(14)

So, by Theorem 2 and (14), we have the following corollary.

Corollary 4. *Our polynomials, which are* $\mathscr{B}_n(x : \alpha \mid \lambda)$ *,* $\mathscr{E}_n(x : \alpha \mid \lambda)$ and $\mathscr{G}_n(x : \alpha \mid \lambda)$, are Appell polynomials.

From Theorem 2, we have

$$\int_0^1 \mathscr{B}_n(x:\alpha \mid \lambda) \, dx = \frac{\mathscr{B}_{n+1}(1:\alpha \mid \lambda) - \mathscr{B}_n(x:\alpha \mid \lambda)}{n+1}.$$

More generally,

$$\int_{x}^{x+1} \mathscr{B}_{n}(y:\alpha \mid \lambda) dy = \frac{\mathscr{B}_{n+1}(x+1:\alpha \mid \lambda) - \mathscr{B}_{n}(x:\alpha \mid \lambda)}{n+1}$$

Thus, we get the following theorem.

Theorem 3. The following identities hold true:

$$\int_{x}^{x+1} \mathscr{B}_{n}(y:\alpha \mid \lambda) dy = \frac{\mathscr{B}_{n+1}(x+1:\alpha \mid \lambda) - \mathscr{B}_{n}(x:\alpha \mid \lambda)}{n+1}$$

$$\int_{x}^{x+1} \mathscr{E}_{n}(y:\alpha \mid \lambda) dy = \frac{\mathscr{E}_{n+1}(x+1:\alpha \mid \lambda) - \mathscr{E}_{n}(x:\alpha \mid \lambda)}{n+1}$$

$$\int_{x}^{x+1} \mathscr{G}_{n}(y:\alpha \mid \lambda) \, dy = \frac{\mathscr{G}_{n+1}(x+1:\alpha \mid \lambda) - \mathscr{G}_{n}(x:\alpha \mid \lambda)}{n+1}.$$

3 Identities Including Special Polynomials Arising from Fractional Calculus

Recent works involving the integral of the product of several type Bernstein polynomials [15], *p*-adic integral representation for *q*-Bernoulli numbers and *q*-integral representation of *q*-Bernstein polynomials [7], fermionic *p*-adic integral representation for Frobenius-Euler numbers and polynomials [14], derivative representations of Bernstein polynomials [17] have been investigated.

In this final part, we derive some new interesting identities related to special polynomials by utilizing from Caputo-fractional derivative and Riemann-Liouville integral.

As well known, Apostol-Bernoulli polynomials are given to be:

$$\mathscr{F}(t,z \mid \lambda) = \frac{z}{\lambda e^z - 1} e^{tz} = \sum_{n=0}^{\infty} B_n(t \mid \lambda) \frac{z^n}{n!}.$$
 (15)

Note that Apostol-Bernoulli polynomials are analytic on the region $\mathfrak{D} = \{z \in \mathbb{C} \mid |z + \log \lambda| < 2\pi\}$ (see [19], [22], [23]). Differentiating in the both sides of (15), we have

$$\frac{d}{dt}B_n(t \mid \lambda) = nB_{n-1}(t \mid \lambda) \text{ (see [19], [22], [23]).} (16)$$

When t = 0 in (15), we have $B_n(0 | \lambda) := B_n(\lambda)$ that are called Bernoulli numbers, and can be generated by

$$\mathscr{F}(z \mid \lambda) = \frac{z}{\lambda e^{z} - 1} = \sum_{n=0}^{\infty} B_{n}(\lambda) \frac{z^{n}}{n!}.$$
 (17)

By (15) and (17), we have the following functional equation:

$$\mathscr{F}(t,z \mid \lambda) = e^{tz} \mathscr{F}(z \mid \lambda)$$

By using Taylor's formula in the last identity, we have

$$B_m(t \mid \lambda) = \sum_{k=0}^m \binom{m}{k} t^{m-k} B_k(\lambda) = \sum_{k=0}^m \binom{m}{k} t^k B_{m-k}(\lambda)$$

(see [19], [22], [23]).

Taking $f(t) = B_m(t \mid \lambda)$ in (7) gives

$$\mathcal{D}^{\alpha}B_{m}(t \mid \lambda) = \frac{1}{\Gamma(n-\alpha)} \int_{0}^{t} \frac{\frac{d^{n}}{dt^{n}}B_{m}(t \mid \lambda) \mid_{t=s}}{(t-s)^{\alpha-n+1}} ds$$

$$= m(m-1)\cdots(m-n+1)$$

$$\times \sum_{k=0}^{m-n} {m-n \choose k} B_{m-n-k}(\lambda)$$

$$\times \left[\frac{1}{\Gamma(n-\alpha)} \int_{0}^{t} \frac{s^{k}}{(t-s)^{\alpha-n+1}} ds \right]$$

$$= \frac{\Gamma(m+1)}{\Gamma(m-n+1)}$$

$$\times \sum_{k=0}^{m-n} \frac{k! {m-n \choose k} B_{m-n-k}(\lambda)}{\Gamma(n+k-\alpha+1)} t^{k-\alpha+n}.$$

Therefore, we procure the following theorem.

$$\mathcal{D}^{\alpha}B_{m}(t \mid \lambda) = \frac{\Gamma(m+1)}{\Gamma(m-n+1)} \times \sum_{k=0}^{m-n} \frac{k!\binom{m-n}{k}B_{m-n-k}(\lambda)}{\Gamma(n+k-\alpha+1)} t^{k-\alpha+n}$$

is true.

In [19], Apostol-Bernoulli polynomials of higher order are defined by

$$\underbrace{\frac{z}{\lambda e^{z} - 1} \frac{z}{\lambda e^{z} - 1} \cdots \frac{z}{\lambda e^{z} - 1}}_{h-times} e^{tz} = \sum_{m=0}^{\infty} B_{m}^{(h)} \left(t \mid \lambda\right) \frac{z^{n}}{n!}.$$
 (18)

Taking into account that $B_m^{(h)}(t)$ is analytic on \mathfrak{D} . It follows from (18), we have

$$\frac{d}{dt}B_m^{(h)}(t\mid\lambda) = mB_{m-1}^{(h)}(t\mid\lambda)$$
(19)

and

$$\frac{d^{n}}{dt^{n}}B_{m}^{(h)}\left(t\mid\lambda\right) = \frac{\Gamma\left(m+1\right)}{\Gamma\left(m-n+1\right)}B_{m-n}^{(h)}\left(t\mid\lambda\right) \text{ (see [19]).}$$
(20)

Substituting t = 0 into (18), we have $B_m^{(h)}(0 \mid \lambda) := B_m^{(h)}(\lambda)$ that are called Bernoulli polynomials of higher order.

Owing to (18) and (20), we see that

$$\mathcal{D}^{\alpha} B_{m}^{(h)}\left(t \mid \lambda\right) = \frac{1}{\Gamma\left(n-\alpha\right)} \int_{0}^{t} \frac{\frac{d^{n}}{dt^{n}} B_{m}^{(h)}\left(t \mid \lambda\right) \mid_{t=s}}{\left(t-s\right)^{\alpha-n+1}} ds$$

$$= m\left(m-1\right) \cdots \left(m-n+1\right)$$

$$\times \sum_{k=0}^{m-n} {\binom{m-n}{k}} B_{m-n-k}^{(h)}\left(\lambda\right)$$

$$\times \left[\frac{1}{\Gamma\left(n-\alpha\right)} \int_{0}^{t} \frac{s^{k}}{\left(t-s\right)^{\alpha-n+1}} ds\right]$$

$$= \frac{\Gamma\left(m+1\right)}{\Gamma\left(m-n+1\right)} \sum_{k=0}^{m-n} \frac{k! {\binom{m-n}{k}} B_{m-n-k}^{(h)}\left(\lambda\right)}{\Gamma\left(n+k-\alpha+1\right)} t^{k-\alpha+n}$$

$$= \frac{\Gamma\left(m+1\right)}{\Gamma\left(m-n+1\right)} \sum_{k=0}^{m-n} \frac{k! {\binom{m-n}{k}}}{\Gamma\left(n+k-\alpha+1\right)} t^{k-\alpha+n}$$

$$\times \left(\sum_{s_{1}+s_{2}+\cdots+s_{h}=m-n-k} {\binom{m-n-k}{s_{1},s_{2},\cdots,s_{h}}} \right)$$

Therefore, we can state the following theorem.

Theorem 5. The following equality

$$\mathcal{D}^{\alpha}B_{m}^{(h)}\left(t\mid\lambda\right) = \frac{\Gamma\left(m+1\right)}{\Gamma\left(m-n+1\right)}$$

$$\sum_{k=0}^{m-n}\frac{k!\binom{m-n}{k}}{\Gamma\left(n+k-\alpha+1\right)}t^{k-\alpha+n}$$

$$\times \begin{pmatrix} \sum_{s_{1}+s_{2}+\cdots+s_{h}=m-n-k}\binom{m-n-k}{s_{h}\geq0} \\ \times \begin{pmatrix} n\\j=1\\ j=1\\ \end{pmatrix} \end{pmatrix}$$

is true.

We recall the definition of generating function for Bernoulli-type polynomials as follows:

$$\sum_{n=0}^{\infty} \mathscr{B}_n(x:\alpha \mid \lambda) \frac{z^n}{n!} = \frac{z}{\lambda E_{\alpha}(z) - 1} e^{xz}$$

and also

$$\frac{d}{dx}\mathscr{B}_n(x:\alpha \mid \lambda) = n\mathscr{B}_{n-1}(x:\alpha \mid \lambda).$$

Taking $f(t) = \mathscr{B}_n(x : \alpha \mid \lambda)$ in (7), we compute

$$D^{\alpha}\mathscr{B}_{n}(x:\alpha \mid \lambda) = \frac{1}{\Gamma(n-\alpha)} \int_{0}^{t} \frac{\frac{d^{n}}{dt^{n}}\mathscr{B}_{n}(x:\alpha \mid \lambda) \mid_{t=s}}{(t-s)^{\alpha-n+1}} ds$$
$$= m(m-1)\cdots(m-n+1)$$
$$\times \sum_{k=0}^{m-n} {m-n \choose k} \mathscr{B}_{n}(\alpha \mid \lambda)$$
$$\times \left[\frac{1}{\Gamma(n-\alpha)} \int_{0}^{t} \frac{s^{k}}{(t-s)^{\alpha-n+1}} ds \right]$$
$$= \frac{\Gamma(m+1)}{\Gamma(m-n+1)}$$
$$\times \sum_{k=0}^{m-n} \frac{k! {m-n \choose k} \mathscr{B}_{n}(\alpha \mid \lambda)}{\Gamma(n+k-\alpha+1)} t^{k-\alpha+n}.$$

We can acquire similar identities for Euler-type polynomials and Genocchi-type polynomials. So, we state the following interesting theorem.

Theorem 6. The following equalities hold true:

$$D^{\alpha}\mathscr{B}_{n}(x:\alpha \mid \lambda) = \frac{\Gamma(m+1)}{\Gamma(m-n+1)} \times \sum_{k=0}^{m-n} \frac{k!\binom{m-n}{k}\mathscr{B}_{n}(\alpha \mid \lambda)}{\Gamma(n+k-\alpha+1)} t^{k-\alpha+n},$$
$$D^{\alpha}\mathscr{E}_{n}(x:\alpha \mid \lambda) = \frac{\Gamma(m+1)}{\Gamma(m-n+1)} \times \sum_{k=0}^{m-n} \frac{k!\binom{m-n}{k}\mathscr{E}_{n}(\alpha \mid \lambda)}{\Gamma(n+k-\alpha+1)} t^{k-\alpha+n},$$

and

$$D^{\alpha} \mathscr{G}_{n}(x : \alpha \mid \lambda) = \frac{\Gamma(m+1)}{\Gamma(m-n+1)} \times \sum_{k=0}^{m-n} \frac{k! \binom{m-n}{k} \mathscr{G}_{n}(\alpha \mid \lambda)}{\Gamma(n+k-\alpha+1)} t^{k-\alpha+n}.$$

4 Conclusion

In this article, we have introduced the new analogues of the Apostol-Bernoulli polynomias, the Apostol-Euler polynomials, the Apostol-Genocchi polynomials based on the Mittag-Leffler function. As applications of these definitions, we get some new recurrence relations for aforementioned polynomials. Based upon these relations, we also derive some new interesting identities of these polynomials by using the Caputo-fractional derivative.

It would be interesting to apply the results of this paper to other known special polynomials, e.g., to some other Hermite polynomials, Legendre polynomials and related polynomials. We plan to deal with such related problems in our subsequent works.

References

- [1] I. Podlubny, *Fractional differential equations*, Academic Press, San Diego, 1999.
- [2] A. A. Kilbas, H. M. Srivastava, J. J. Trujillo, *Theory and Applications of Fractional Differential Equations*, Elsevier, North-Holland, 2006.
- [3] A. M. Chak, A generalization of the Mittag-Leffler function, *Mat. Vesnik.*, vol. 19, no. 4, pp. 257-262, 1967.
- [4] T. Kim, Some formulae for the q-Bernstein polynomials and q-deformed binomial distributions, J. Comp. Anal. Appl. 14 (2012), no. 5, 917-933.
- [5] T. Kim, A note on *q*-Bernstein polynomials, *Russ. J. Math. Phys.* 18 (2011), no. 1, 73-82.
- [6] T. Kim, Some identities on the q-integral representation of the product of several q-Bernstein-type polynomials, Abst. Appl. Anal. Volume 2011, Article ID 634675, 11 pages.
- [7] T. Kim, A. Bayad, Y.-H. Kim, A study on the *p*-adic integral representation on associated with the weighted *q*-Bernstein and *q*-Bernoulli polynomials, *Journal of Inequalities and Applications* 2011, 2011:513821
- [8] T. Kim, On the analogs of the Euler numbers and polynomials associated with *p*-adic *q*-integral on \mathbb{Z}_p at q = -1, *J. Math. Anal. Appl.* 331, 779-792 (2007)
- [9] E. Şen, Theorems on Apostol–Euler polynomials of higher order arising from Euler basis, *Adv. Stud. Contemp. Math.* 23 (2013), No. 2.
- [10] S. Araci, Novel identities for q-Genocchi numbers and polynomials, *Journal of Function Spaces and Applications*, Volume **2012**, Article ID 214961, 13 pages.
- [11] S. Araci, M. Acikgoz and J. J. Seo, Explicit formulas involving *q*-Euler numbers and polynomials, *Abstract and Applied Analysis*, Volume **2012**, Article ID 298531, 11 pages.



- [12] S. Araci, D. Erdal and J. J. Seo, A study on the fermionic *p*-adic *q*-integral representation on \mathbb{Z}_p associated with weighted *q*-Bernstein and *q*-Genocchi polynomials, *Abstract and Applied Analysis*, Volume **2011**, Article ID 649248, 10 pages.
- [13] S. Araci, M. Acikgoz, A. Kilicman, Extended p-adic qinvariant integrals on \mathbb{Z}_p associated with applications of umbral calculus, *Advances in Difference Equations* 2013, **2013**:96
- [14] S. Araci and M. Acikgoz, A note on the Frobenius-Euler numbers and polynomials associated with Bernstein polynomials, *Advanced Studies in Contemporary Mathematics* 22 (2012), no. 3, 399-406.
- [15] M. Acikgoz and S. Araci, A study on the integral of the product of several type Bernstein polynomials, *IST Transactions of Applied Mathematics – Modeling and Simulation*, Vol. 1, No. 1 (2), pp. 10-14.
- [16] M. Acikgoz, Y. Simsek, On multiple interpolation function of the Nörlund-type *q*-Euler polynomials, *Abst. Appl. Anal.* 2009 (2009), Article ID 382574, 14 pages.
- [17] E. Cetin, H. Ozbay, M. Togan, and I. N. Cangul, Properties of *n*-th degree Bernstein polynomials, *Num. Anal. Appl. Math.*(1389) pp. 392-395, 2011.
- [18] H. Jolany and H. Sharifi, Some results for Apostol-Genocchi Polynomials of higher order, *Bulletin of the Malaysian Mathematical Sciences and Society* 36 (2), 465-479, 2013.
- [19] Q. M. Luo, The multiplication formulas for the Apostol-Bernoulli and Apostol-Euler polynomials of higher order, *Integral Transforms and Special Functions*, 20:5, 377-391.
- [20] C. S. Ryoo, A note on the weighted q-Euler numbers and polynomials, Adv. Stud. Contemp. Math. 21 (2011), 47–54.
- [21] Y. He and W. Zhang, A convolution formula for Bernoulli Polynomials, *Ars Combinatoria*, pp. 97-104, **2013**.
- [22] Y. He and C. Wang, Some formulae of products of the Apostol-Bernoulli and Apostol-Euler Polynomials, *Discrete Dynamics in Nature and Society*, vol. **2012**, Article ID 927953, 11 pages.
- [23] Y. He and C. Wang, Recurrence formulae for Apostol-Bernoulli and Apostol-Euler polynomials, *Advances in Difference Equations* 2012, 2012:209.
- [24] H. M. Srivastava, Mridula Garg, Sangeeta Choudhary, Some new families of generalized Euler and Genocchi polynomials, 15, 283-305 (2011).
- [25] J. Choi, P. J. Anderson, and H. M. Srivastava, Some *q*-extensions of the Apostol-Bernoulli and the Apostol-Euler polynomials of order *n*, and the multiple Hurwitz zeta function, *Appl. Math. Comput.* 199 (**2008**), 723-737



Serkan Araci was born in Hatay, Turkey, on October 1, 1988. He received his B.S. and M.S. degrees in mathematics from the University of Gaziantep, Gaziantep, Turkey, in 2010 and 2013, respectively. Currently, he is a Ph.d student

and works as a lecturer at Hasan Kalyoncu University, Gaziantep. Additionally, the title of his M.S. thesis is Bernstein polynomials and their reflections in analytic number theory and, for this thesis, he received the Best Thesis Award of 2013 from the University of Gaziantep. He has published more than 60 papers in reputed international journals. His research interests include p-adic analysis, analytic theory of numbers, q-series and q-polynomials, and theory of umbral calculus. Araci is an editor and a referee for some international journals and serves as an Editor in Chief of both Turkish Journal of Analysis and Number Theory, Journal for Algebra and Number Theory Academia, and Journal of Analysis & Number Theory.







Erdoğan Şen works as a researcher at Namik Kemal University in Tekirdağ, Turkey. His research areas are spectral theory of differential equations, fractional calculus and analytic number theory.

Mehmet Acikgoz received M. Sc. and Ph. D. from Cukurova University, Turkey. He is currently associate Professor at University of Gaziantep. His research interests are approximation theory, functional analysis, p-adic analysis and analytic numbers theory.

Kamil Oruçoğlu received his Ph. D. Degree from Istanbul Technical University in 1992. He is still head of the department of Mathemical Engineering in the same university. His research areas are theory of differential equations, functional analysis and fundamental solutions.